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LetP= {(x,y)|x* +¥ =1, x vy R} Then, P1s

(a) Reflexive (b) Symmetric

(¢) Transitive (d) Anti-symmetric

For real numbers xand y, wewnite xRy > x-y+ 2 is
an irrational number. Then, the relation R is

(a) Reflexive (b) Symmetric

(¢) Transitive (d) None of these

Let L denote the set of ull straight lines in a plane. Let a
relation R be defined by aRfe>a Lfafel Then, R
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(a) Reflexive (b) Symmetric

(¢) Transitive (d) None of these

Let S be the set of all real numbers. Then, the relation
R=[(a,b): 1 +ab>0}onSis

(a) Reflexive and symmetric but not transitive

(b) Reflexive and transitive but not symmetric

(¢) Symmetric, transitive but not reflexive

(d) Reflexive, transitive and symmetne

Let R be a relation on the set N be defined by

XY [xyeN2x+y=4l] Then R

(a) Reflexive (b) Symmetric

(¢) Transitive (d) Nonc of these
LetA=1{1,2,3}andB= (2,4 6, 8}

Congider the rule F: A - B, fix) = 2x v x ¢ A The
domauin, codomain and range of /respectively are

(@) {1,2,3},12.4,6),12,4,6,8)

(b) 11,2,3),12,4,6,8}, {2,4,6)

(€) 12.4,6,8),12,4,6,7},11,2,3)

() 12,4,6),12,4,6,8}, 11,2, 3

The relation “less than" in the set of natural numbers is |
(a) only symmetric (b) oaly transitive

(¢) only reflexive (d) equivalence relation
Let R and S be two non-void relations in a set A Which of
the following statements is not true.

(a) Rand S transitive = Ru S s transitive
(b) Rand S transitive = RS s transitive
(¢) Rand Ssymmetric = R Sis symmetric
(d) Rand S reflexive = R~ Sisreflexive
The relation R= 1 (1,1).42,2),(3.3)) on theset {1,2,3} 15 :
(a) symmetric only (b) reflexive only

(¢) anequivalence rfaton () transitive only

Let A be the non-empty set of children i o family. The
relation 'x 15 brother of y m A is:

(@) refllexive (b) symmetric

(¢) transitive (d) Nonc of these

letA= {123, 4)andlt R= }(2,2),(3,3), (4,4), (1,
2)) be a relation on A Then R is:

(a) reflexive (b) symmetnic

(¢) transitive (d) None of these
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IfR is a relation in a set A such that (a, a) € R for every
u e A, then the relation R 15 called

(a) symmetric (b) reflexive
(c) transitive (d) symmetric or transitive
A relation R in o set A is called empty relation, if

(@) no clement of A 1s related to any element of A

(b) every element of A is related to every element of A
(c) some clements of A are related to some elements of A
(d) Nome of the above

A relation R in a set A is called universal relation, if

(2) cach clement of A 1s not related to every clement of A
(b) no clement of A is related to any clement of A

(¢) each clement of A is related to every element of A
(d) None of the above

Arelation R ina set A is said to be an equivalence relation,
ifR is

(2) symmetric only (b) reflexive only

(€) transitive only (d) Al of these

Let R={(3, 3) (5 5), (9,9, (12, 12), (5, 12), (3, 9),
(3, 12), (3, 5)] bea relation on the st 4 = {3, 5,9, 12).
Then, R is:

(a) reflexive, symmetnic but not transitive

(b) symmetric, transitive but not reflexive.

(c) an equivalence relation.

(d) reflexive, transitive but not symmetric,

Arclation R in a set A is called transitive, if for all a, a,,
4, € A (a,8,) € Rand (a,, 3,) € R implies

(#) (8;.9)eR (b (a;,83)eR

(¢) (ay,8)eR (d) (a3,8;)eR

IFR = {(x,¥): xis father of y], then R is

(@) reflexive but not symmetric

(b) symmetric and transitive

(¢) neither reflexive nor symmetnc nor transitive

(d) Symmetric but not reflexive

IFR = {(x, ¥) : x 15 exactly 7 om taller than y}, then R is
(a) not symmetric

(b) reflexive

(c) symmetric but not transitive

(d) an equivalence relation

IFR={{x, y): xiswifeof y} thenR 1s

(a) reflexive (b) symmetric

(c) trapsitive (d) an equivalence relation

. Let Rbe therelation in the set Z of all integers defined by

R={(x,¥) ! x—yisaninteger). Then Ris

(2) reflexive (b) symmetric
(€) transitive () an equivalence relation
Let R be the relation in the set {1, 2, 3, 4] given by

R= 401,202, 20, (0, 1), 44,4, (1, 3),43,3),(3, 2)).
(a) Risreflexive and symmetric but not transitive
(b) R isreflexive and transitive but not symmetric
(¢) Rissymmetric and transitive but not reflexive
(d) R is equivalence relation
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